DAYS TAKEN FOR WORK
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1.
[image: Graphical user interface, text, application, email

Description automatically generated]











[bookmark: _GoBack]OCR GSCE – Sample Papers – Paper 5 (Non - Calculator) Higher Tier
2.
[image: ]
image1.png
9 A company has to make a large number of boxes.
e company o 6 machis.
A s ok s o e e
Wher oo e e gty cn ke all e boses 9 ey
The bl givshe mberof machies working cchdy:
oyt oy [ oy [ aloerdos
Nmberofmachinesvorking | 3 | 4| 3 | o

‘Work out the total namber of days taken to make all the boxcs.

(Total for Question 9 s 3 marks)
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‘Sam and two friends put letters in envelopes on Monday.
“The e of them take two hours to put 600 ltters in envelopes.

() On Tuesday Sam has three friends helping.

Working atthe same rate, how many leters should the four of them be able to putin
envelopes in two hours?
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(b) Working atthe same rate, how much longer woud it take four peopie fo put 1000 ltters i
‘envelopes than it would take five people?
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(© Samsays

I ook two hours for three people fo put 600 letrers in envelopes.
Tf T assume they work al day, then in one day three people wil put 7200 letters in
envelopes because 600 x 12 = 7200,

Why s Sam's assumpion ot reasonable?
Wnat efect has Sam's assumption had on her answer?




